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1. Work out 15 x 3

X1 21345 |6[7|8]9
You may use the 3’s row of the times table grid:
31619 |12|15|18|21|24]|27
You must show your workings out.
1
10 X 3 =
3
X 3 =
I 5 3 =
R
2. Work out 13 x 5
X1 21345 |6[7|8]09
You may use the 5’s row of the times table grid:
5 11015120 |25]30|35]|40 |45
You must show your workings out.
1
I 0 X =
5 pu—
1 3 X 5 =
20
3. Work out 14 x 4
X1 21345 |6[7|8]09
You may use the 4’s row of the times table grid:
4 1 8 [12]16(20 |24 |28 32|36
You must show your workings out.
1
A 1 0 X 4 =
4 e
1 4 X 4 =
3o
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4. Work out 13 x 6

X1 21345 |6[7|8]09
You may use the 6’s row of the times table grid:
6 | 121824 |30|36 |42 |48 |54
You must show your workings out.
1
10 X 6 =
6
>< =
I 3 X =
4. oo
5. Work out 14 x 7
X 1213|4567 |8]9
You may use the 7’s row of the times table grid:
7 11412128 |35]42]49 |56 | 63
You must show your workings out.
1
. I 0 x 7 =
7 —
1 4 X 7 =
D
6. Work out 18 x 3
X1 213|415 |6[7|8]9
You may use the 3’s row of the times table grid:
31619 |12|15|18|21|24]|27
You must show your workings out.
1
5 10 3 =
X 3 =
I 8 X 3 =
6. i

answers Q1: 45, Q2: 65, Q3: 56, Q4: 78, Q5: 98, Q6: 54
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